

# GWINNETT COUNTY DEPARTMENT OF FINANCIAL SERVICES PURCHASING DIVISION

75 Langley Drive | Lawrenceville, GA 30046-6935 O: 770.822.8720 | F: 770.822.8735 GwinnettCounty.com

October 28, 2025

### Addendum 1

### BL139-25, Resurfacing of Residential County Roads on a Term Contract

### **Clarification:**

- C1. Insurance Requirements will be provided via an attachment.
- C2. Revised Ethics Affidavit and E-Verify Affidavit will be provided via an attachment.

### Revision:

R1. The following pages should be returned in duplicate as your bid:

Bid Schedule, Pages 14-21

Sub-Contractor List, Page 22

References, Page 23

Ethics Affidavit, Page 24

E-Verify Affidavit, Page 25

Bid Bonds, Pages 26-27

### Attachments:

A1. BL140-24 Bid Tab

A2. BL019-25 Bid Tab

This addendum should be acknowledged on page 21 of the bid invitation and returned with your bid. Failure to do so may result in your bid being deemed non-responsive.

Thank you.

Michael Milstein

**Purchasing Associate II** 



# GWINNETT COUNTY DEPARTMENT OF FINANCIAL SERVICES PURCHASING DIVISION

75 Langley Drive | Lawrenceville, GA 30046-6935 0: 770.822.8720 | F: 770.822.8735 GwinnettCounty.com

BL139-25, Resurfacing of Residential County Roads on a Term Contract

Page 24

### **CODE OF ETHICS AFFIDAVIT**

PLEASE RETURN THIS FORM COMPLETED WITH YOUR SUBMITTAL. SUBMITTED FORMS ARE REQUIRED A 2 PRIOR TO EVALUATION.

In accordance with Section 54-33 of the Gwinnett County Code of Ordinances the undersigned bidder/proposer makes the following full and complete disclosure under oath, to the best of their knowledge, of the name(s) of all elected officials whom it employs or who have a direct or indirect pecuniary interest in or with the vendor, its affiliates or its subcontractors:

Company Submitting Bid/P	'roposal			
. Please select one of the fol ☐ No information to disclo ☐ Disclosed information b	ose (complete only s		pelow)	
If additional space is requir	red, please attach lis	rt:		
Gwinnett County Elected O	fficial Name	Gwinnett C	County Elected	Official Name
Gwinnett County Elected O	fficial Name	Gwinnett C	ounty Elected	Official Name
4. BY:				
Authorized Officer or Age	ent Signature	Sworn to a	nd subscribed	l before me this
Printed Name of Authorized (	Officer or Agent	da	ay of	, 20
Title of Authorized Officer or	Agent of Contractor	Notary Pub	olic	
				(seal)

Note: See Gwinnett County Code of Ethics Ordinance EO2011, Sec. 54-33. The ordinance will be available to view in its' entirety at **GwinnettCounty.com** 



# GWINNETT COUNTY DEPARTMENT OF FINANCIAL SERVICES PURCHASING DIVISION

75 Langley Drive | Lawrenceville, GA 30046-6935 O: 770.822.8720 | F: 770.822.8735 GwinnettCounty.com

BL139-25, Resurfacing of Residential County Roads on a Term Contract

Page 25

### CONTRACTOR AFFIDAVIT AND AGREEMENT (THIS FORM SHOULD BE FULLY COMPLETED AND RETURNED WITH YOUR SUBMITTAL)

By executing this affidavit, the undersigned contractor verifies its compliance with The Illegal Immigration Reform Enhancements for 2013, stating affirmatively that the individual, firm, or corporation which is contracting with the Gwinnett County Board of Commissioners has registered with and is participating in a federal work authorization program\* [any of the electronic verification of work authorization programs operated by the United States Department of Homeland Security or any equivalent federal work authorization program operated by the United States Department of Homeland Security] to verify information of newly hired employees, pursuant to the Immigration Reform and Control Act, in accordance with the applicability provisions and deadlines established therein.

The undersigned further agrees that, should it employ or contract with any subcontractor(s) in connection with the physical performance of services or the performance of labor pursuant to this contract with the Gwinnett County Board of Commissioners, contractor will secure from such subcontractor(s) similar verification of compliance with the Illegal Immigration Reform and Enforcement Act on the Subcontractor Affidavit provided in Rule 300-10-01-.08 or a substantially similar form. Contractor further agrees to maintain records of such compliance and provide a copy of each such verification to the Gwinnett County Board of Commissioners at the time the subcontractor(s) is retained to perform such service.

E-Verify * User Identification Number	Date Reg	gistered
Legal Company Name		
Street Address		
City/State/Zip Code		
BY: Authorized Officer or Agent (Contractor Signature)	Date	
		For Gwinnett County Use Only:
Title of Authorized Officer or Agent of Contr	actor	Document ID #
Printed Name of Authorized Officer or Agen	t	Issue Date:
SUBSCRIBED AND SWORN BEFORE ME ON DAY OF, 20	-	issue Date.
DAY OF, 20		Initials:
Notary Public		
My Commission Expires:		

<sup>\*</sup> As of the effective date of O.C.G.A. 13-10-91, the applicable federal work authorization program is "E-Verify" operated by the U.S. Citizenship and Immigration Services Bureau of the U.S. Department of Homeland Security, in conjunction with the Social Security Administration (SSA).



# MAJOR CONSTRUCTION INSURANCE REQUIREMENTS (FOR PROJECTS MORE THAN \$5,000,000)

#### Insurance:

Contractor shall provide evidence of insurance for at least the coverage and amounts set forth below. All insurance shall be maintained in the form and with a company (or companies) satisfactory to the Gwinnett County Board of Commissioners. The Contractor and their Subcontractor's/Vendor's Certificate of Insurance shall require that the County be notified in writing thirty (30) days prior to cancellation, modification or non-renewal of any insurance policy listed on Certificate. Upon request, Contractor shall provide the County with certified copies of all required insurance policies.

### A. Minimum Coverage

Commercial General Liability (Occurrence Form):General Aggregate (other than Prod/Comp Ops Liability)\$2,000,000Products/Completed Operations Aggregate\$2,000,000Personal & Advertising Injury Liability\$1,000,000Each Occurrence\$1,000,000

- Gwinnett County Board of Commissioners to be named as Additional Insured
- Additional Insured Endorsement CG 20 10 (edition dates of 07/04, 04/13, 12/19 or a substitute endorsement providing equivalent coverage) and CG 2037 (edition dates of 07/04, 04/13, 12/19 or a substitute endorsement providing equivalent coverage) must be provided with your Certificate of Insurance.
- Primary and Non-Contributory Endorsement to be specified in writing.
- Dedicated Limits per Project Site or Location (CG 25 03 or CG 25 04)
- Contractual Liability
- Broad Form Property Damage
- · Severability of Interest
- Underground, explosion, and collapse coverage
- Personal Injury (deleting both contractual and employee exclusions)
- Incidental Medical Malpractice
- Hostile Fire Pollution Wording
- Include Waiver of Subrogation in favor of Gwinnett County Board of Commissioners
- If project or operations are within 50 feet of a railroad, Contractor is required to name the specific railroad as an Additional Insured and provide a copy of the Additional Insured Endorsement CG2417 or its equivalent.
- In the event the General Liability insurance required by this Contract is written on a claims-made basis, Contractor warrants that any retroactive date under the policy shall precede the effective date of this Contract; and that either continuous coverage will be maintained or an extended discovery period will be exercised for a period of five (5) years or applicable statute of limitation period following completion of the work.

- Comprehensive form providing coverage for bodily injury, death of any person, and property damage arising out of the ownership, maintenance, and use of all owned, non-owned, leased, hired, borrowed vehicles, and any other statutorily required automobile coverage.
- Gwinnett County Board of Commissioners to be named as Additional Insured
- Additional Insured Endorsements must be provided with the Certificate of Insurance
- Coverage to include loading and unloading
- Contractual Liability

### Worker's Compensation & Employer's Liability Coverage to include:

Workers Compensation Georgia State Statutory Limits

**Employers Liability** 

Bodily Injury by Accident – Each Accident \$ 500,000

Bodily Injury by Disease – Policy Limit \$ 500,000

Bodily Injury by Disease – Each Employee \$ 500,000

• Waiver of Subrogation in favor of Gwinnett County Board of Commissioners

<u>Umbrella/Excess Liability Insurance with policy limits as determined by Contract Sums (Higher limits may be required depending on the extent of contract):</u>

Contracts Over \$5,000,000

Each Occurrence and Aggregate Limit

\$10,000,000

- Gwinnett County Board of Commissioners to be named as Additional Insured
- · Additional Insured Endorsements must be provided with the Certificate of Insurance
- Concurrency of Effective Dates with Primary
- Blanket Contractual Liability
- Drop Down Feature
- Umbrella Policy must be as broad as the primary policy.
- Coverage excess over General Liability, Business Auto Liability, and Employers Liability
- In the event the Umbrella/Excess Liability insurance required by this Contract is written on a claims-made basis, Contractor warrants that any retroactive date under the policy shall precede the effective date of this Contract; and that either continuous coverage will be maintained or an extended discovery period will be exercised for a period of five (5) years or applicable statute of limitation period following completion of the work.

<u>Builder's Risk Insurance or Installation Floater Insurance (with the exception for work where the County secures project Builders Risk):</u>

On all new structures, bridges, overpasses, culverts, and railroad crossings, the Contractor shall purchase and maintain insurance in an amount sufficient to cover the full contract amount, from a company licensed, and authorized to do business by the Office of the Insurance and Safety Fire Commissioner of Georgia ("Insurance Commissioner"), with the exception of non-admitted carriers, in which case the broker placing coverage should be licensed by the Insurance Commissioner. All agents placing coverage should be licensed by the Insurance Commissioner, either as a resident or non-resident.

### **Property Insurance:**

The Contractor is fully and solely responsible for any physical loss or damage to all tools, equipment, construction office trailers and their contents, vehicles or any other personal property utilized in the performance of the Contractor's work. Contractor agrees to waive its rights of recovery and cause its

insurers, if any, to waive their rights of subrogation against Owner and Company for any such damage or loss, however caused.

Professional Liability (Errors and Omissions): Applies if contract is for professional services such as architects and engineers, geotechnical investigation and reporting, environmental assessment, land surveying, or construction administrative services such as material testing. Professional services also include accountants, lawyers, doctors, computer and software engineers, and any other services the County may designate. The following Professional Errors and Omissions Liability Insurance shall meet or exceed the following minimum requirements:

The Contractor shall maintain Errors and Omissions Liability covering negligent acts, errors and/or omissions, including design errors of the Contractor for damage sustained by reason of or in the course of operations under this Contract. The policy/coverages shall be amended to include the following:

- Claim/Wrongful Act: \$1,000,000 limit of insurance
- General Aggregate: \$2,000,000 limit of insurance
- Amendment of any Contractual Liability Exclusion to state: "This exclusion does not apply to any liability of others which you assume under a written contract provided such liability is caused by your negligent acts."
- In the event that any professional liability insurance required by this Contract is written on a claimsmade basis, Contractor warrants that any retroactive date under the policy shall precede the effective
  date of this Contract; and that either continuous coverage will be maintained, or an extended
  discovery period will be exercised for a period of five (5) years or applicable statute of limitation
  period following completion of the work, unless such coverage becomes unavailable in the market on
  a commercially reasonable basis, in which case the Contractor shall notify the Insurance Manager. If
  the Director of the Department for which the Contractor is doing the work and the Insurance Manager
  both agree that such coverage is not commercially reasonably available (such agreement not to be
  unreasonably withheld), the Contractor may for the period such coverage is not commercially
  reasonably available, elect not to provide such coverage.

Pollution Liability Insurance. Applies if scope of work requires the handling and/or transportation of hazardous materials, including, but not limited to, asbestos, lead, silica, contaminated soil, or any other hazardous material as defined by applicable law then the following Pollution Liability Insurance shall meet or exceed the following minimum requirements:

Per Incident Limit
\$1,000,000
Aggregate Limit
\$2,000,000

- Limits for Bodily Injury, Property Damage, Environmental Damage or Clean-Up Costs, including coverage for Non-Owned Disposal Sites.
- For Subcontractors whose scope of work includes transportation of hazardous materials, the insurance must also include coverage for pollution conditions arising from the transportation of hazardous materials.
- Whether written on an "Occurrence" basis or on a "Claims Made" basis, coverage shall either be renewed continuously or shall provide an extended claims reporting period of five (5) years or applicable statute of limitation period following completion of the work.
- Gwinnett County Board of Commissioners shall be Additional Insureds during the term of the subcontract agreement and through all applicable statutes of limitation and repose.
- Additional Insured Endorsements must be provided with the Certificate of Insurance
- The policy shall stipulate the insurance afforded to the Additional Insureds applies as primary insurance and that any other insurance carried by the Additional Insureds will be excess only.

<u>Crane Insurance (Applies if any work to be performed involves the use of any owned, leased, chartered or hired crane of any type):</u>

Occurrence Limit \$5,000,000

- Evidence of coverage in the form of a Certificate of Insurance shall be provided to the County prior to start of work.
- Gwinnett County Board of Commissioners and their respective officers, directors and employees, and any other parties required by the County shall be Additional Insureds.
- Additional Insured Endorsements must be provided with the Certificate of Insurance

### Riggers Liability Insurance.

If any work to be performed involves the rigging, lifting. lowering or moving of property or equipment, then those parties performing such work shall carry Rigger's Liability Insurance in an amount adequate to insure against the physical loss or damage to the property or equipment in its care

### Crime or Fidelity Insurance:

Limit of Insurance

\$1,000,000

- The Contractor shall maintain employee dishonesty and computer fraud coverage including, but not limited to, dishonest acts of Contractor, its employees, agents, subcontractors and anyone under Contractor's supervision or control.
- Contractor shall be liable for money, securities, or other property of the County.
- Such coverage shall include an owner coverage endorsement for County and County shall be included as a loss payee.

Cyber Liability Insurance: Applies if scope of work includes the storage or transfer of any County data or sensitive data (including but not limited to personally identifiable, health or payment card data) or the related hosting of database(s) or internet site(s):

Limit of Insurance per Claim \$1,000,000 Aggregate Limit \$1,000,000

The Contractor shall maintain insurance coverage for network security and privacy risks, including, but not limited to, insurance for data breach or introduction of virus or malicious codes, consumer notification, whether or not required by law, forensic investigation, public relations and crisis management and credit or identity monitoring or similar remediation services, unauthorized access, failure of security information theft, damage to destruction of or alteration of electronic information, breach of privacy perils, wrongful disclosure and release of private information, collection, or other negligence in the handling of confidential information, and including coverage for related regulatory fines, defenses, and penalties allowed by law.

Aviation Insurance. (Applies if scope of work requires the use of aircraft, including helicopters, unmanned aircraft systems (e.g., drones) and/or fixed-wing aircraft):

Maintain (or require aircraft owner or operator to maintain), and Contractor shall furnish proof of Aircraft Liability insurance with minimum limits of \$10,000,000 per occurrence for bodily injury and property damage of all aircraft.

Unmanned aircraft systems, minimum limits of \$2,000,000 for bodily injury, property damage, and personal injury (including invasion of privacy) for unmanned aircraft systems, and guest voluntary settlement bodily injury coverage (for any aircraft except unmanned aircraft systems)

- Such policy shall include contractual liability covering all owned and non-owned aircraft
- If the party providing the Aircraft Liability insurance is not Contractor, then Contractor shall require such party to (a) waive any subrogation rights of recovery they and/or their insurance carriers may

have against County and any other indemnified parties and (b) name County and such other parties as Additional Insureds

- The Contractor shall (or shall require aircraft owner or operator) to hire, employ, and utilize pilots certified by the Federal Aviation Administration to operate any such aircraft.
- B. Gwinnett County Board of Commissioners (and any applicable Authority) must be specified in writing as an Additional Insured on General Liability, Auto Liability, Umbrella Liability, Pollution, Aviation (if applicable) and Crane policies.
- C. Gwinnett County should be provided with a minimum of 30 days advance written notice of cancellation, material change, or non-renewal of policies required by the contract.
- D. Certificate Holder should read: Gwinnett County Board of Commissioners 75 Langley Drive Lawrenceville, GA 30046-6935
- E. Insurance Company, except Workers' Compensation carrier, must have an A.M. Best Rating of A-10 or higher. Certain Workers' Comp funds may be acceptable by the approval of the Insurance Unit. European markets including those based in London and domestic surplus lines markets that operate on a non-admitted basis are exempt from this requirement provided that the contractor's broker/agent can provide financial data to establish that a market is equal to or exceeds the financial strengths associated with the A.M. Best's rating of A-10 or better.
  - F. Insurance companies providing coverage should be licensed, and authorized to do business by the Office of the Insurance and Safety Fire Commissioner of Georgia ("Insurance Commissioner"), with the exception of non-admitted carriers, in which case the broker placing coverage should be licensed by the Insurance Commissioner. All agents placing coverage should be licensed by the Insurance Commissioner, either as a resident or non-resident.
  - G. Certificates of Insurance, and any subsequent renewals, must reference each corresponding bid/contract by project name and project/bid number.
- H. The Contractor shall agree to provide complete certified copies of current insurance policy(ies) or a certified letter from the insurance company(ies) if requested by the County to verify the compliance with these insurance requirements.
  - I. All insurance coverage required to be provided by the Contractor will state that it is primary over any insurance program carried by the County.
  - J. Contractor shall incorporate a copy of the insurance requirements as herein provided in each and every subcontract with each and every Subcontractor in any tier and shall require each and every Subcontractor of any tier to comply with all such requirements. Contractor agrees that if for any reason Subcontractor fails to procure and maintain insurance as required, all such required Insurance shall be procured and maintained by Contractor at Contractor's expense.
  - K. No Contractor or Subcontractor shall commence any work of any kind under this Contract until all insurance requirements contained in this Contract have been complied with and until evidence of such compliance satisfactory to Gwinnett County as to form and content has been filed with Gwinnett County. The ACORD Certificate of Insurance or a preapproved substitute is the required form in all cases where reference is made to a Certificate of Insurance or an approved substitute.
  - L. The Contractor and its insurer(s) shall agree to waive all rights of subrogation against the County, the Board of Commissioners, its officers, officials, employees, and volunteers from losses arising from work performed by the contractor for the County.

- M. Special Form Contractors' Equipment and Contents Insurance covering owned, used, and leased equipment, tools, supplies, and contents is required to perform the services called for in the Contract. The coverage must be on a replacement cost basis. The County will be included as a Loss Payee in this coverage for County owned equipment, tools, supplies, and contents.
- N. The Contractor shall make available to the County, through its records or records of its insurer, information regarding any claim related to a County project. Any loss run information available from the Contractor or its insurer relating to a County project will be made available to the County upon its request.
- O. Compliance by the Contractor and all Subcontractors with the foregoing insurance requirements shall not relieve the Contractor and Subcontractors of liability under the Contract and any applicable law.
- P. The Contractor and all Subcontractors are to comply with the Occupational Safety and Health Act of 1970, Public Law 91-956, and any other laws that may apply to this Contract.
- Q. The Contractor shall at a minimum apply risk management practices accepted by the Contractor's industry.
- R. The Contractor shall advise the County if required limits of insurance become eroded or impaired.

### Surety Bonds (if required)

All of the surety requirements will stay the same except the Surety Company must have the same rating as set forth in item E above.

BID TABULATION Page 1 of 6

BL140-24
Resurfacing of Residential County Roads on a Term Contract
Department of Transportation

**A**1

	DISTRICT 1			ng Contractors, Inc. (OC)	Comp	onstruction any, Inc. OC)	E.R. Snell C	ontractor, Inc. (L)	-	Paving, LLC (L)	dba Mag	ving Buyer, LLC num Paving OC)	Stewart	Bros., Inc. (L)		onstruction & oment, LLC (L)	Sunbelt Asp	s Company dba bhalt Surfaces, Inc. (OC)
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I. GP 1)	16,900 Tons	\$150.00	\$2,535,000.00	\$160.63	\$2,714,647.00	\$168.00	\$2,839,200.00	\$140.50	\$2,374,450.00	\$134.00	\$2,264,600.00	\$136.75	\$2,311,075.00	\$153.00	\$2,585,700.00	\$132.50	\$2,239,250.00
2	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, BL1)	100 Tons	\$190.00	\$19,000.00	\$184.83	\$18,483.00	\$168.00	\$16,800.00	\$199.00	\$19,900.00	\$177.00	\$17,700.00	\$141.00	\$14,100.00	\$192.00	\$19,200.00	\$196.00	\$19,600.00
3	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Tons	\$245.00	\$24,500.00	\$185.94	\$18,594.00	\$180.00	\$18,000.00	\$190.05	\$19,005.00	\$180.00	\$18,000.00	\$151.00	\$15,100.00	\$192.00	\$19,200.00	\$221.00	\$22,100.00
4	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	2,304 Tons	\$160.00	\$368,640.00	\$187.59	\$432,207.36	\$167.00	\$384,768.00	\$201.00	\$463,104.00	\$143.00	\$329,472.00	\$155.00	\$357,120.00	\$142.00	\$327,168.00	\$186.00	\$428,544.00
5	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	5,550 Tons	\$300.00	\$1,665,000.00	\$207.16	\$1,149,738.00	\$300.00	\$1,665,000.00	\$202.49	\$1,123,819.50	\$226.00	\$1,254,300.00	\$175.00	\$971,250.00	\$169.00	\$937,950.00	\$191.00	\$1,060,050.00
6	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	3,360 Tons	\$150.00	\$504,000.00	\$184.83	\$621,028.80	\$179.00	\$601,440.00	\$164.05	\$551,208.00	\$202.00	\$678,720.00	\$133.25	\$447,720.00	\$138.00	\$463,680.00	\$151.00	\$507,360.00
7	Manhole Adjustment	425 Each	\$1,840.00	\$782,000.00	\$1,267.50	\$538,687.50	\$1,370.00	\$582,250.00	\$1,690.00	\$718,250.00	\$1,500.00	\$637,500.00	\$1,050.00	\$446,250.00	\$1,250.00	\$531,250.00	\$1,000.00	\$425,000.00
8	Water Valve Adjustment	5 Each	\$1,440.00	\$7,200.00	\$877.50	\$4,387.50	\$930.00	\$4,650.00	\$1,322.50	\$6,612.50	\$1,250.00	\$6,250.00	\$850.00	\$4,250.00	\$950.00	\$4,750.00	\$1,000.00	\$5,000.00
9	Asphalt Underlying Fabric	500 Sq.yds.	\$3.50	\$1,750.00	\$15.00	\$7,500.00	\$12.25	\$6,125.00	\$7.50	\$3,750.00	\$10.00	\$5,000.00	\$9.00	\$4,500.00	\$12.50	\$6,250.00	\$9.00	\$4,500.00
10	Mill Asphaltic Conc. Pavement - variable depth	145,200 Sq.yds.	\$3.40	\$493,680.00	\$3.48	\$505,296.00	\$4.50	\$653,400.00	\$3.49	\$506,748.00	\$5.00	\$726,000.00	\$3.20	\$464,640.00	\$5.18	\$752,136.00	\$2.75	\$399,300.00
11	Asphaltic Rubber Crack Fill	17 Miles	\$10,375.00	\$176,375.00	\$7,283.80	\$123,824.60	\$11,100.00	\$188,700.00	\$10,500.00	\$178,500.00	\$3,100.00	\$52,700.00	\$9,500.00	\$161,500.00	\$8,950.00	\$152,150.00	\$10,000.00	\$170,000.00
12	12.5mm OPEN GRADED INTERLAYER including Bituminous Material and Tack Coat	2,778 Tons	\$180.00	\$500,040.00	\$194.06	\$539,098.68	\$204.00	\$566,712.00	\$159.50	\$443,091.00	\$170.00	\$472,260.00	\$141.50	\$393,087.00	\$158.00	\$438,924.00	\$146.00	\$405,588.00
		TOTAL	\$7,07	7,185.00	\$6,67	3,492.44	\$7,52	7,045.00	\$6,40	8,438.00	\$6,46	2,502.00	\$5,59	0,592.00	\$6,23	8,358.00	\$5,68	6,292.00

\*Low bidder accepted a maximum of three districts. The second low bidder was selected for the remaining districts.

BID TABULATION Page 2 of 6

BL140-24
Resurfacing of Residential County Roads on a Term Contract
Department of Transportation

	DISTRICT 2			g Contractors, nc. OC)	Co	ws Contracting ., Inc. (L)	E.R. Snell C	ontractor, Inc. (L)		Paving, LLC (L)	dba Magr	ring Buyer, LLC num Paving DC)	Stewart	Bros., Inc. (L)	Develop	onstruction & oment, LLC (L)	Sunbelt Asp	Company dba shalt Surfaces, nc. OC)
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	16,900 Tons	\$160.00	\$2,704,000.00	\$156.80	\$2,649,920.00	\$160.00	\$2,704,000.00	\$143.01	\$2,416,869.00	\$131.25	\$2,218,125.00	\$140.25	\$2,370,225.00	\$153.00	\$2,585,700.00	\$142.75	\$2,412,475.00
2	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, BL1)	100 Tons	\$225.00	\$22,500.00	\$179.02	\$17,902.00	\$160.00	\$16,000.00	\$179.30	\$17,930.00	\$175.00	\$17,500.00	\$142.00	\$14,200.00	\$197.50	\$19,750.00	\$193.50	\$19,350.00
3	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Tons	\$250.00	\$25,000.00	\$180.11	\$18,011.00	\$176.00	\$17,600.00	\$186.57	\$18,657.00	\$182.00	\$18,200.00	\$152.00	\$15,200.00	\$197.50	\$19,750.00	\$218.50	\$21,850.00
4	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	2,330 Tons	\$170.00	\$396,100.00	\$214.16	\$498,992.80	\$159.00	\$370,470.00	\$217.50	\$506,775.00	\$144.00	\$335,520.00	\$155.00	\$361,150.00	\$140.00	\$326,200.00	\$183.50	\$427,555.00
5	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	5,575 Tons	\$300.00	\$1,672,500.00	\$298.17	\$1,662,297.75	\$295.00	\$1,644,625.00	\$220.14	\$1,227,280.50	\$232.00	\$1,293,400.00	\$177.00	\$986,775.00	\$169.00	\$942,175.00	\$188.50	\$1,050,887.50
6	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	3,400 Tons	\$160.00	\$544,000.00	\$168.46	\$572,764.00	\$168.00	\$571,200.00	\$165.95	\$564,230.00	\$211.00	\$717,400.00	\$137.25	\$466,650.00	\$140.00	\$476,000.00	\$148.50	\$504,900.00
7	Manhole Adjustment	375 Each	\$1,840.00	\$690,000.00	\$1,140.63	\$427,736.25	\$1,340.00	\$502,500.00	\$1,690.00	\$633,750.00	\$1,500.00	\$562,500.00	\$1,050.00	\$393,750.00	\$1,250.00	\$468,750.00	\$1,000.00	\$375,000.00
8	Water Valve Adjustment	10 Each	\$1,440.00	\$14,400.00	\$1,910.48	\$19,104.80	\$910.00	\$9,100.00	\$1,322.00	\$13,220.00	\$1,450.00	\$14,500.00	\$850.00	\$8,500.00	\$950.00	\$9,500.00	\$1,000.00	\$10,000.00
9	Asphalt Underlying Fabric	500 Sq.yds.	\$3.50	\$1,750.00	\$20.00	\$10,000.00	\$12.00	\$6,000.00	\$7.50	\$3,750.00	\$11.00	\$5,500.00	\$9.00	\$4,500.00	\$6.50	\$3,250.00	\$9.00	\$4,500.00
10	Mill Asphaltic Conc. Pavement - variable depth	147,050 Sq.yds.	\$3.00	\$441,150.00	\$7.00	\$1,029,350.00	\$4.40	\$647,020.00	\$3.77	\$554,378.50	\$4.20	\$617,610.00	\$3.30	\$485,265.00	\$5.20	\$764,660.00	\$2.75	\$404,387.50
11	Asphaltic Rubber Crack Fill	19 Miles	\$10,375.00	\$197,125.00	\$8,300.00	\$157,700.00	\$10,800.00	\$205,200.00	\$10,500.00	\$199,500.00	\$3,100.00	\$58,900.00	\$9,900.00	\$188,100.00	\$8,950.00	\$170,050.00	\$10,000.00	\$190,000.00
12	12.5mm OPEN GRADED INTERLAYER including Bituminous Material and Tack Coat	2,810 Tons	\$180.00	\$505,800.00	\$182.88	\$513,892.80	\$190.00	\$533,900.00	\$143.60	\$403,516.00	\$182.00	\$511,420.00	\$140.20	\$393,962.00	\$167.50	\$470,675.00	\$173.50	\$487,535.00
		TOTAL	\$7,21	4,325.00	\$7,57	7,671.40	\$7,22	7,615.00	\$6,55	9,856.00	\$6,370	),575.00	\$5,688	3,277.00	\$6,25	6,460.00	\$5,90	3,440.00

\*Low bidder accepted a maximum of three districts. The second low bidder was selected for the remaining districts.

BID TABULATION Page 3 of 6

BL140-24 Resurfacing of Residential County Roads on a Term Contract Department of Transportation

	DISTRICT 3		E.R. Snell (	Contractor, Inc. (L)	dba Mag	ving Buyer, LLC Inum Paving (OC)	Co	Construction mpany (OC)	Stewart	Bros., Inc. (L)		onstruction & oment, LLC (L)	Sunbelt Asp	s Company dba chalt Surfaces, Inc. OC)
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	16,700 Tons	\$154.00	\$2,571,800.00	\$132.45	\$2,211,915.00	\$141.32	\$2,360,044.00	\$144.25	\$2,408,975.00	\$152.50	\$2,546,750.00	\$155.00	\$2,588,500.00
2	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, BL1)	100 Tons	\$154.00	\$15,400.00	\$175.00	\$17,500.00	\$141.32	\$14,132.00	\$146.00	\$14,600.00	\$195.00	\$19,500.00	\$200.00	\$20,000.00
11 2	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Tons	\$162.00	\$16,200.00	\$182.00	\$18,200.00	\$141.32	\$14,132.00	\$156.00	\$15,600.00	\$195.00	\$19,500.00	\$225.00	\$22,500.00
4	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	2,304 Tons	\$153.00	\$352,512.00	\$150.25	\$346,176.00	\$141.32	\$325,601.28	\$155.00	\$357,120.00	\$142.00	\$327,168.00	\$190.00	\$437,760.00
5	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	5,525 Tons	\$280.50	\$1,549,762.50	\$232.00	\$1,281,800.00	\$288.15	\$1,592,028.75	\$177.00	\$977,925.00	\$169.00	\$933,725.00	\$195.00	\$1,077,375.00
	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	3,360 Tons	\$161.00	\$540,960.00	\$220.00	\$739,200.00	\$141.32	\$474,835.20	\$140.75	\$472,920.00	\$140.00	\$470,400.00	\$155.00	\$520,800.00
7	Manhole Adjustment	320 Each	\$1,250.00	\$400,000.00	\$1,500.00	\$480,000.00	\$1,152.00	\$368,640.00	\$1,050.00	\$336,000.00	\$1,250.00	\$400,000.00	\$1,100.00	\$352,000.00
8	Water Valve Adjustment	8 Each	\$852.00	\$6,816.00	\$1,450.00	\$11,600.00	\$783.00	\$6,264.00	\$800.00	\$6,400.00	\$850.00	\$6,800.00	\$1,100.00	\$8,800.00
9	Asphalt Underlying Fabric	500 Sq.yds.	\$11.50	\$5,750.00	\$11.00	\$5,500.00	\$10.00	\$5,000.00	\$9.00	\$4,500.00	\$6.50	\$3,250.00	\$9.00	\$4,500.00
	Mill Asphaltic Conc. Pavement - variable depth	145,350 Sq.yds.	\$4.20	\$610,470.00	\$4.80	\$697,680.00	\$3.80	\$552,330.00	\$3.25	\$472,387.50	\$5.35	\$777,622.50	\$2.75	\$399,712.50
11	Asphaltic Rubber Crack Fill	19 Miles	\$9,450.00	\$179,550.00	\$3,100.00	\$58,900.00	\$8,745.00	\$166,155.00	\$9,000.00	\$171,000.00	\$8,950.00	\$170,050.00	\$10,000.00	\$190,000.00
12	12.5mm OPEN GRADED INTERLAYER including Bituminous Material and Tack Coat	2,778 Tons	\$195.00	\$541,710.00	\$181.00	\$502,818.00	\$150.55	\$418,227.90	\$148.80	\$413,366.40	\$160.00	\$444,480.00	\$180.00	\$500,040.00
		TOTAL	\$6,79	0,930.50	\$6,37	1,289.00	\$6,29	7,390.13	\$5,65	0,793.90	\$6,11	9,245.50	\$6,12	1,987.50

km

BID TABULATION Page 4 of 6

BL140-24 Resurfacing of Residential County Roads on a Term Contract Department of Transportation

	DISTRICT 4		li	g Contractors, nc. OC)		contractor, Inc. (L)	_	Paving, LLC (L)	dba Mag	ving Buyer, LLC num Paving OC)		Bros., Inc. (L)		construction & pment, LLC (L)	Sunbelt As	s Company dba phalt Surfaces, Inc. (OC)
ITEM#	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	19,200 Tons	\$153.50	\$2,947,200.00	\$173.00	\$3,321,600.00	\$145.31	\$2,789,952.00	\$130.00	\$2,496,000.00	\$142.50	\$2,736,000.00	\$154.00	\$2,956,800.00	\$135.00	\$2,592,000.00
2	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I. BL1)	100 Tons	\$225.00	\$22,500.00	\$173.00	\$17,300.00	\$180.23	\$18,023.00	\$176.00	\$17,600.00	\$145.00	\$14,500.00	\$192.00	\$19,200.00	\$195.00	\$19,500.00
	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Tons	\$250.00	\$25,000.00	\$195.00	\$19,500.00	\$181.30	\$18,130.00	\$183.00	\$18,300.00	\$155.00	\$15,500.00	\$192.00	\$19,200.00	\$220.00	\$22,000.00
	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	2,629 Tons	\$165.00	\$433,785.00	\$172.00	\$452,188.00	\$214.25	\$563,263.25	\$144.00	\$378,576.00	\$156.00	\$410,124.00	\$141.00	\$370,689.00	\$185.00	\$486,365.00
	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	6,175 Tons	\$300.00	\$1,852,500.00	\$310.00	\$1,914,250.00	\$224.53	\$1,386,472.75	\$226.00	\$1,395,550.00	\$179.00	\$1,105,325.00	\$169.00	\$1,043,575.00	\$190.00	\$1,173,250.00
	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	3,860 Tons	\$155.00	\$598,300.00	\$180.00	\$694,800.00	\$147.05	\$567,613.00	\$194.00	\$748,840.00	\$140.00	\$540,400.00	\$140.00	\$540,400.00	\$150.00	\$579,000.00
7	Manhole Adjustment	419.00 Each	\$1,840.00	\$770,960.00	\$1,400.00	\$586,600.00	\$1,690.00	\$708,110.00	\$1,500.00	\$628,500.00	\$1,050.00	\$439,950.00	\$1,250.00	\$523,750.00	\$1,100.00	\$460,900.00
8	Water Valve Adjustment	5 Each	\$1,440.00	\$7,200.00	\$952.00	\$4,760.00	\$1,322.50	\$6,612.50	\$1,250.00	\$6,250.00	\$850.00	\$4,250.00	\$950.00	\$4,750.00	\$1,100.00	\$5,500.00
	Asphalt Underlying Fabric	500 Sq.yds.	\$3.50	\$1,750.00	\$12.50	\$6,250.00	\$7.50	\$3,750.00	\$10.00	\$5,000.00	\$9.00	\$4,500.00	\$6.50	\$3,250.00	\$9.00	\$4,500.00
	Mill Asphaltic Conc. Pavement - variable depth	166,450 Sq.yds.	\$3.25	\$540,962.50	\$4.65	\$773,992.50	\$3.97	\$660,806.50	\$4.50	\$749,025.00	\$3.30	\$549,285.00	\$5.20	\$865,540.00	\$2.75	\$457,737.50
	Asphaltic Rubber Crack Fill	21 Miles	\$10,375.00	\$217,875.00	\$10,900.00	\$228,900.00	\$10,500.00	\$220,500.00	\$3,200.00	\$67,200.00	\$9,500.00	\$199,500.00	\$8,950.00	\$187,950.00	\$10,000.00	\$210,000.00
12	12.5mm OPEN GRADED INTERLAYER including Bituminous Material and Tack Coat	3,178 Tons	\$175.00	\$556,150.00	\$205.00	\$651,490.00	\$174.50	\$554,561.00	\$171.00	\$543,438.00	\$148.25	\$471,138.50	\$160.00	\$508,480.00	\$181.00	\$575,218.00
		TOTAL	\$7,974	4,182.50	\$8,67	1,630.50	\$7,49	7,794.00	\$7,05	4,279.00	\$6,49	0,472.50	\$7,04	13,584.00	\$6,58	5,970.50

\*Low bidder accepted a maximum of three districts. The second low bidder was selected for the remaining districts.

BID TABULATION Page 5 of 6

BL140-24 Resurfacing of Residential County Roads on a Term Contract Department of Transportation

	DISTRICT 5		Comp	onstruction any, Inc. OC)	E.R. Snell C	ontractor, Inc. (L)	dba Mag	ving Buyer, LLC num Paving OC)	Cor	Construction mpany OC)	Stewart	Bros., Inc. (L)	Develop	onstruction & oment, LLC (L)	Sunbelt Asp	s Company dba chalt Surfaces, nc. OC)
ITEM#	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	21,300 Tons	\$159.19	\$3,390,747.00	\$153.00	\$3,258,900.00	\$131.00	\$2,790,300.00	\$137.60	\$2,930,880.00	\$136.75	\$2,912,775.00	\$153.00	\$3,258,900.00	\$155.00	\$3,301,500.00
2	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, BL1)	100 Tons	\$177.36	\$17,736.00	\$153.00	\$15,300.00	\$176.00	\$17,600.00	\$137.60	\$13,760.00	\$142.00	\$14,200.00	\$195.00	\$19,500.00	\$195.00	\$19,500.00
3	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Tons	\$184.57	\$18,457.00	\$178.00	\$17,800.00	\$183.00	\$18,300.00	\$137.60	\$13,760.00	\$152.00	\$15,200.00	\$195.00	\$19,500.00	\$220.00	\$22,000.00
4	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	2,902 Tons	\$179.30	\$520,328.60	\$152.00	\$441,104.00	\$141.25	\$409,907.50	\$127.30	\$369,424.60	\$156.00	\$452,712.00	\$136.00	\$394,672.00	\$190.00	\$551,380.00
5	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	6,700 Tons	\$208.56	\$1,397,352.00	\$271.50	\$1,819,050.00	\$226.00	\$1,514,200.00	\$287.65	\$1,927,255.00	\$175.00	\$1,172,500.00	\$169.00	\$1,132,300.00	\$195.00	\$1,306,500.00
6	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	4,280 Tons	\$177.36	\$759,100.80	\$163.00	\$697,640.00	\$205.00	\$877,400.00	\$137.60	\$588,928.00	\$134.75	\$576,730.00	\$140.00	\$599,200.00	\$150.00	\$642,000.00
7	Manhole Adjustment	287 Each	\$1,218.75	\$349,781.25	\$1,250.00	\$358,750.00	\$1,750.00	\$502,250.00	\$1,152.00	\$330,624.00	\$1,050.00	\$301,350.00	\$1,250.00	\$358,750.00	\$1,100.00	\$315,700.00
8	Water Valve Adjustment	25 Each	\$843.75	\$21,093.75	\$853.00	\$21,325.00	\$1,350.00	\$33,750.00	\$783.00	\$19,575.00	\$750.00	\$18,750.00	\$850.00	\$21,250.00	\$1,100.00	\$27,500.00
9	Asphalt Underlying Fabric	500 Sq.yds.	\$14.39	\$7,195.00	\$11.50	\$5,750.00	\$10.00	\$5,000.00	\$10.00	\$5,000.00	\$9.00	\$4,500.00	\$6.50	\$3,250.00	\$9.00	\$4,500.00
10	Mill Asphaltic Conc. Pavement - variable depth	184,350 Sq.yds.	\$3.39	\$624,946.50	\$4.20	\$774,270.00	\$5.25	\$967,837.50	\$3.60	\$663,660.00	\$3.30	\$608,355.00	\$5.22	\$962,307.00	\$2.75	\$506,962.50
11	Asphaltic Rubber Crack Fill	24 Miles	\$6,981.26	\$167,550.24	\$9,450.00	\$226,800.00	\$3,200.00	\$76,800.00	\$8,745.00	\$209,880.00	\$9,000.00	\$216,000.00	\$8,950.00	\$214,800.00	\$10,000.00	\$240,000.00
12	12.5mm OPEN GRADED INTERLAYER including Bituminous Material and Tack Coat	3,514 Tons	\$179.85	\$631,992.90	\$195.00	\$685,230.00	\$179.00	\$629,006.00	\$146.40	\$514,449.60	\$144.75	\$508,651.50	\$152.00	\$534,128.00	\$181.00	\$636,034.00
		TOTAL	\$7,900	6,281.04	\$8,32	1,919.00	\$7,84	2,351.00	\$7,58	7,196.20	\$6,80	1,723.50	\$7,518	8,557.00	\$7,57	3,576.50

**BID TABULATION** Page 6 of 6

BL140-24
Resurfacing of Residential County Roads on a Term Contract
Department of Transportation

	DISTRICT 6		1	ng Contractors, Inc. (OC)	Comp	onstruction any, Inc. OC)		ws Contracting ., Inc. (L)	E.R. Snell C	Contractor, Inc. (L)	dba Mag	ving Buyer, LLC num Paving OC)	Stewar	t Bros., Inc. (L)		onstruction & pment, LLC (L)	Sunbelt Asp	Company dba shalt Surfaces, nc. OC)
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	16,400 Tons	\$160.00	\$2,624,000.00	\$149.62	\$2,453,768.00	\$163.66	\$2,684,024.00	\$160.00	\$2,624,000.00	\$132.00	\$2,164,800.00	\$145.75	\$2,390,300.00	\$153.50	\$2,517,400.00	\$147.50	\$2,419,000.00
2	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, BL1)	100 Tons	\$225.00	\$22,500.00	\$170.59	\$17,059.00	\$180.67	\$18,067.00	\$160.00	\$16,000.00	\$175.00	\$17,500.00	\$147.00	\$14,700.00	\$197.50	\$19,750.00	\$195.00	\$19,500.00
3	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Tons	\$225.00	\$22,500.00	\$177.52	\$17,752.00	\$181.76	\$18,176.00	\$170.00	\$17,000.00	\$182.00	\$18,200.00	\$157.00	\$15,700.00	\$197.50	\$19,750.00	\$220.00	\$22,000.00
4	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	2,265 Tons	\$160.00	\$362,400.00	\$172.55	\$390,825.75	\$221.10	\$500,791.50	\$159.00	\$360,135.00	\$144.00	\$326,160.00	\$156.50	\$354,472.50	\$139.00	\$314,835.00	\$185.00	\$419,025.00
5	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	5,475 Tons	\$300.00	\$1,642,500.00	\$200.71	\$1,098,887.25	\$296.45	\$1,623,063.75	\$291.50	\$1,595,962.50	\$225.00	\$1,231,875.00	\$178.00	\$974,550.00	\$169.00	\$925,275.00	\$190.00	\$1,040,250.00
6	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	3,300 Tons	\$160.00	\$528,000.00	\$170.59	\$562,947.00	\$172.61	\$569,613.00	\$169.00	\$557,700.00	\$198.00	\$653,400.00	\$141.75	\$467,775.00	\$140.00	\$462,000.00	\$150.00	\$495,000.00
7	Manhole Adjustment	338 Each	\$1,840.00	\$621,920.00	\$1,170.00	\$395,460.00	\$1,152.73	\$389,622.74	\$1,330.00	\$449,540.00	\$1,500.00	\$507,000.00	\$1,050.00	\$354,900.00	\$1,250.00	\$422,500.00	\$1,100.00	\$371,800.00
8	Water Valve Adjustment	6 Each	\$1,440.00	\$8,640.00	\$810.00	\$4,860.00	\$2,057.98	\$12,347.88	\$902.00	\$5,412.00	\$1,250.00	\$7,500.00	\$750.00	\$4,500.00	\$850.00	\$5,100.00	\$1,100.00	\$6,600.00
9	Asphalt Underlying Fabric	500 Sq.yds.	\$3.50	\$1,750.00	\$13.81	\$6,905.00	\$20.00	\$10,000.00	\$12.00	\$6,000.00	\$10.00	\$5,000.00	\$9.00	\$4,500.00	\$6.50	\$3,250.00	\$9.00	\$4,500.00
10	Mill Asphaltic Conc. Pavement - variable depth	142,600 Sq.yds.	\$3.50	\$499,100.00	\$3.29	\$469,154.00	\$7.03	\$1,002,478.00	\$4.40	\$627,440.00	\$4.65	\$663,090.00	\$3.25	\$463,450.00	\$5.40	\$770,040.00	\$2.75	\$392,150.00
11	Asphaltic Rubber Crack Fill	20 Miles	\$10,375.00	\$207,500.00	\$6,702.01	\$134,040.20	\$8,300.00	\$166,000.00	\$10,300.00	\$206,000.00	\$3,100.00	\$62,000.00	\$9,000.00	\$180,000.00	\$8,950.00	\$179,000.00	\$10,000.00	\$200,000.00
12	12.5mm OPEN GRADED INTERLAYER including Bituminous Material and Tack Coat	2,730 Tons	\$185.00	\$505,050.00	\$173.38	\$473,327.40	\$181.07	\$494,321.10	\$195.00	\$532,350.00	\$170.00	\$464,100.00	\$145.75	\$397,897.50	\$152.00	\$414,960.00	\$181.00	\$494,130.00
		TOTAL	\$7,04	5,860.00	\$6,02	4,985.60	\$7,48	8,504.97	\$6,99	7,539.50	\$6,12	0,625.00	\$5,62	2,745.00	\$6,05	3,860.00	\$5,88	3,955.00

Recommended Vendors:
Districts 3, 5, & 6
Stewart Bros., Inc.
Attr: Donald B. Stewart
2480 Pleasantdale Road
Doraville, GA 30340
Phone: 770-447-5910
donald@stewartbrosinc.com

Districts 1, 2, & 4
The Scruggs Company dba Sunbelt Asphalt Surfaces, Inc.
Attn: Robert Jason Mulkey
1410 Sunbelt Way
Auburn, GA 30011
Phone: 770-867-5312
iason@sunbeltasphalt.com

BID TABULATION Page 1 of 3

BL019-25
Resurfacing of Residential County Roads on a Term Contract
Department of Transportation

A2

	NORTH DISTRICT		Allied Paving C		In	ction Company, ac. (C)		Grading, Inc. L)	E.R. Snell Co	ontractor, Inc. L)	dba Magn	ing Buyer, LLC um Paving IC)	Sunbelt Aspha	Company dba It Surfaces, Inc. IC)	Develop	onstruction & oment, LLC (L)
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	12,600 Tons	\$133.50	\$1,682,100.00	\$161.49	\$2,034,774.00	\$139.00	\$1,751,400.00	\$124.00	\$1,562,400.00	\$128.25	\$1,615,950.00	\$150.56	\$1,897,056.00	\$148.00	\$1,864,800.00
2	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, BL1)	100 Tons	\$195.00	\$19,500.00	\$180.81	\$18,081.00	\$139.00	\$13,900.00	\$124.00	\$12,400.00	\$200.00	\$20,000.00	\$156.80	\$15,680.00	\$192.00	\$19,200.00
3	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Tons	\$195.00	\$19,500.00	\$185.64	\$18,564.00	\$141.00	\$14,100.00	\$129.00	\$12,900.00	\$200.00	\$20,000.00	\$215.60	\$21,560.00	\$192.00	\$19,200.00
4	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	1,764 Tons	\$152.00	\$268,128.00	\$178.82	\$315,438.48	\$131.00	\$231,084.00	\$127.00	\$224,028.00	\$177.50	\$313,110.00	\$139.16	\$245,478.24	\$140.00	\$246,960.00
5	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	4,445 Tons	\$215.00	\$955,675.00	\$197.75	\$878,998.75	\$171.00	\$760,095.00	\$229.70	\$1,021,016.50	\$215.95	\$959,897.75	\$165.62	\$736,180.90	\$168.00	\$746,760.00
6	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	2,540 Tons	\$134.00	\$340,360.00	\$180.73	\$459,054.20	\$139.00	\$353,060.00	\$127.65	\$324,231.00	\$172.00	\$436,880.00	\$147.00	\$373,380.00	\$137.00	\$347,980.00
7	Manhole Adjustment	301 Each	\$1,225.00	\$368,725.00	\$994.50	\$299,344.50	\$950.00	\$285,950.00	\$1,150.00	\$346,150.00	\$1,450.00	\$436,450.00	\$1,000.00	\$301,000.00	\$1,250.00	\$376,250.00
8	Water Valve Adjustment	20 Each	\$1,050.00	\$21,000.00	\$663.00	\$13,260.00	\$850.00	\$17,000.00	\$989.00	\$19,780.00	\$1,100.00	\$22,000.00	\$1,000.00	\$20,000.00	\$950.00	\$19,000.00
9	Asphalt Underlying Fabric	1,000 Sq.yds.	\$3.50	\$3,500.00	\$9.46	\$9,460.00	\$10.00	\$10,000.00	\$8.55	\$8,550.00	\$9.00	\$9,000.00	\$6.11	\$6,110.00	\$12.50	\$12,500.00
10	Mill Asphaltic Conc. Pavement - variable depth	123,150 Sq.yds.	\$2.65	\$326,347.50	\$2.84	\$349,746.00	\$3.25	\$400,237.50	\$3.10	\$381,765.00	\$4.25	\$523,387.50	\$1.92	\$236,448.00	\$4.60	\$566,490.00
11	Asphaltic Rubber Crack Fill	15 Miles	\$10,600.00	\$159,000.00	\$6,932.49	\$103,987.35	\$18,850.00	\$282,750.00	\$9,550.00	\$143,250.00	\$9,850.00	\$147,750.00	\$9,999.97	\$149,999.55	\$8,950.00	\$134,250.00
12	12.5mm OPEN GRADED INTERLAYER including Bituminous Material and Tack Coat	2,016 Tons	\$158.50	\$319,536.00	\$190.07	\$383,181.12	\$146.00	\$294,336.00	\$136.00	\$274,176.00	\$180.00	\$362,880.00	\$158.00	\$318,528.00	\$157.00	\$316,512.00
		TOTAL	\$4,483	371.50	\$4,883	,889.40	\$4,413	,912.50	\$4,330	,646.50	\$4,867	,305.25	\$4,321	,420.69	\$4,66	9,902.00

BID TABULATION Page 2 of 3

BL019-25 Resurfacing of Residential County Roads on a Term Contract Department of Transportation

	CENTRAL EAST DISTRICT		In	Contractors, nc. OC)	Compa	onstruction any, Inc. OC)		Grading, Inc. (L)	E.R. Snell C	ontractor, Inc. (L)	dba Magn	ing Buyer, LLC num Paving DC)	Pittman Co Com (O		Sunbelt Aspha	Company dba It Surfaces, Inc. IC)		nstruction & nent, LLC L)	Construc	. Paving & ction, LLC DC)
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	13,100 Tons	\$134.00	\$1,755,400.00	\$164.04	\$2,148,924.00	\$139.00	\$1,820,900.00	\$122.00	\$1,598,200.00	\$125.75	\$1,647,325.00	\$133.30	\$1,746,230.00	\$166.78	\$2,184,818.00	\$149.00	\$1,951,900.00	\$122.50	\$1,604,750.00
2	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I. BL1)	100 Tons	\$195.00	\$19,500.00	\$184.30	\$18,430.00	\$139.00	\$13,900.00	\$122.00	\$12,200.00	\$198.00	\$19,800.00	\$133.30	\$13,330.00	\$193.55	\$19,355.00	\$197.50	\$19,750.00	\$130.00	\$13,000.00
3	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Tons	\$195.00	\$19,500.00	\$188.81	\$18,881.00	\$141.00	\$14,100.00	\$127.00	\$12,700.00	\$198.00	\$19,800.00	\$133.30	\$13,330.00	\$218.05	\$21,805.00	\$197.50	\$19,750.00	\$130.00	\$13,000.00
4	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	1,834 Tons	\$150.00	\$275,100.00	\$181.88	\$333,567.92	\$131.00	\$240,254.00	\$124.00	\$227,416.00	\$158.75	\$291,147.50	\$272.65	\$500,040.10	\$139.16	\$255,219.44	\$139.00	\$254,926.00	\$141.00	\$258,594.00
5	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	4,620 Tons	\$225.00	\$1,039,500.00	\$201.67	\$931,715.40	\$171.00	\$790,020.00	\$225.75	\$1,042,965.00	\$205.85	\$951,027.00	\$282.20	\$1,303,764.00	\$165.62	\$765,164.40	\$168.00	\$776,160.00	\$166.00	\$766,920.00
6	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	2,640 Tons	\$132.50	\$349,800.00	\$184.57	\$487,264.80	\$139.00	\$366,960.00	\$126.00	\$332,640.00	\$160.00	\$422,400.00	\$140.40	\$370,656.00	\$149.45	\$394,548.00	\$139.00	\$366,960.00	\$136.00	\$359,040.00
7	Manhole Adjustment	350 Each	\$1,225.00	\$428,750.00	\$994.50	\$348,075.00	\$950.00	\$332,500.00	\$1,150.00	\$402,500.00	\$1,450.00	\$507,500.00	\$1,092.00	\$382,200.00	\$1,078.00	\$377,300.00	\$1,250.00	\$437,500.00	\$1,500.00	\$525,000.00
8	Water Valve Adjustment	24 Each	\$1,050.00	\$25,200.00	\$663.00	\$15,912.00	\$850.00	\$20,400.00	\$983.00	\$23,592.00	\$1,100.00	\$26,400.00	\$937.50	\$22,500.00	\$1,078.00	\$25,872.00	\$950.00	\$22,800.00	\$1,100.00	\$26,400.00
9	Asphalt Underlying Fabric	1,000 Sq.yds.	\$3.50	\$3,500.00	\$9.63	\$9,630.00	\$10.00	\$10,000.00	\$8.50	\$8,500.00	\$9.00	\$9,000.00	\$7.50	\$7,500.00	\$8.82	\$8,820.00	\$6.50	\$6,500.00	\$1.00	\$1,000.00
10	Mill Asphaltic Conc. Pavement - variable depth	127,900 Sq.yds.	\$2.75	\$351,725.00	\$2.91	\$372,189.00	\$3.25	\$415,675.00	\$2.95	\$377,305.00	\$3.65	\$466,835.00	\$4.85	\$620,315.00	\$2.26	\$289,054.00	\$4.60	\$588,340.00	\$2.50	\$319,750.00
11	Asphaltic Rubber Crack Fill	16 Miles	\$9,775.00	\$156,400.00	\$7,039.30	\$112,628.80	\$18,850.00	\$301,600.00	\$9,180.00	\$146,880.00	\$9,000.00	\$144,000.00	\$8,745.00	\$139,920.00	\$10,000.00	\$160,000.00	\$8,490.00	\$135,840.00	\$9,000.00	\$144,000.00
12	12.5mm OPEN GRADED INTERLAYER including Bituminous Material and Tack Coat	2,096 Tons	\$155.00	\$324,880.00	\$192.26	\$402,976.96	\$146.00	\$306,016.00	\$137.00	\$287,152.00	\$186.00	\$389,856.00	\$151.45	\$317,439.20	\$176.89	\$370,761.44	\$160.00	\$335,360.00	\$141.00	\$295,536.00
		TOTAL	\$4,749	,255.00	\$5,200	,194.88	\$4,632	2,325.00	\$4,47	2,050.00	\$4,895	5,090.50	\$5,437	,224.30	\$4,872	2,717.28	\$4,915	,786.00	\$4,326	5,990.00

km

BID TABULATION Page 3 of 3

BL019-25
Resurfacing of Residential County Roads on a Term Contract
Department of Transportation

	WEST DISTRICT		li	Contractors, nc. DC)	Compa	nstruction iny, Inc. IC)	East Coast	Grading, Inc. (L)	E.R. Snell C	ontractor, Inc. (L)	dba Magı	ring Buyer, LLC num Paving DC)	Sunbelt Aspha	Company dba alt Surfaces, Inc. DC)	Develop	nstruction & ment, LLC (L)	Constru	Paving & ction, LLC DC)
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	<b>TOTAL PRICE</b>	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	<b>TOTAL PRICE</b>
1	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	13,350 Tons	\$132.50	\$1,768,875.00	\$159.13	\$2,124,385.50	\$132.00	\$1,762,200.00	\$116.00	\$1,548,600.00	\$128.90	\$1,720,815.00	\$166.12	\$2,217,702.00	\$149.00	\$1,989,150.00	\$122.50	\$1,635,375.00
2	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, BL1)	100 Tons	\$195.00	\$19,500.00	\$180.36	\$18,036.00	\$132.00	\$13,200.00	\$116.00	\$11,600.00	\$198.00	\$19,800.00	\$170.00	\$17,000.00	\$195.00	\$19,500.00	\$130.00	\$13,000.00
3	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Tons	\$195.00	\$19,500.00	\$184.02	\$18,402.00	\$137.00	\$13,700.00	\$127.00	\$12,700.00	\$198.00	\$19,800.00	\$222.10	\$22,210.00	\$195.00	\$19,500.00	\$130.00	\$13,000.00
4	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	1,869 Tons	\$150.00	\$280,350.00	\$178.25	\$333,149.25	\$132.00	\$246,708.00	\$123.45	\$230,728.05	\$171.00	\$319,599.00	\$140.00	\$261,660.00	\$141.00	\$263,529.00	\$141.00	\$263,529.00
5	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	4,708 Tons	\$218.50	\$1,028,698.00	\$196.69	\$926,016.52	\$169.00	\$795,652.00	\$223.50	\$1,052,238.00	\$192.50	\$906,290.00	\$169.00	\$795,652.00	\$168.00	\$790,944.00	\$166.00	\$781,528.00
6	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	2,690 Tons	\$136.50	\$367,185.00	\$180.54	\$485,652.60	\$139.00	\$373,910.00	\$121.00	\$325,490.00	\$162.00	\$435,780.00	\$149.25	\$401,482.50	\$139.00	\$373,910.00	\$136.00	\$365,840.00
7	Manhole Adjustment	124 Each	\$1,225.00	\$151,900.00	\$994.50	\$123,318.00	\$950.00	\$117,800.00	\$1,150.00	\$142,600.00	\$1,475.00	\$182,900.00	\$1,000.00	\$124,000.00	\$1,250.00	\$155,000.00	\$1,500.00	\$186,000.00
8	Water Valve Adjustment	32 Each	\$1,050.00	\$33,600.00	\$663.00	\$21,216.00	\$850.00	\$27,200.00	\$984.00	\$31,488.00	\$1,100.00	\$35,200.00	\$1,000.00	\$32,000.00	\$850.00	\$27,200.00	\$1,100.00	\$35,200.00
9	Asphalt Underlying Fabric	1,000 Sq.yds.	\$3.50	\$3,500.00	\$9.24	\$9,240.00	\$10.00	\$10,000.00	\$8.50	\$8,500.00	\$9.00	\$9,000.00	\$9.00	\$9,000.00	\$6.50	\$6,500.00	\$1.00	\$1,000.00
10	Mill Asphaltic Conc. Pavement - variable depth	132,275 Sq.yds.	\$2.75	\$363,756.25	\$2.96	\$391,534.00	\$3.25	\$429,893.75	\$3.00	\$396,825.00	\$3.90	\$515,872.50	\$2.71	\$358,465.25	\$4.50	\$595,237.50	\$2.50	\$330,687.50
11	Asphaltic Rubber Crack Fill	16 Miles	\$10,150.00	\$162,400.00	\$6,811.16	\$108,978.56	\$18,850.00	\$301,600.00	\$9,500.00	\$152,000.00	\$9,250.00	\$148,000.00	\$10,000.00	\$160,000.00	\$8,950.00	\$143,200.00	\$9,000.00	\$144,000.00
12	12.5mm OPEN GRADED INTERLAYER including Bituminous Material and Tack Coat	2,136 Tons	\$158.50	\$338,556.00	\$187.46	\$400,414.56	\$143.00	\$305,448.00	\$132.00	\$281,952.00	\$187.00	\$399,432.00	\$177.25	\$378,606.00	\$159.00	\$339,624.00	\$141.00	\$301,176.00
			\$4,537	,820.25	\$4,960	,342.99	\$4,39	7,311.75	\$4,194	1,721.05	\$4,712	2,488.50	\$4,777	7,777.75	\$4,723	3,294.50	\$4,070	,335.50

Recommended Vendors: Central East & West Districts Triple R. Paving & Construction, LLC Attn: Jesus A. Rodriquez 5353 North Lake Drive Morrow, GA 30260 Phone: 678-412-0142 tony@tniplerpaving.com

North District
The Scruggs Company dba Sunbelt Asphalt Surfaces, Inc.
Attn: Robert Jason Mulkey
1410 Sunbelt Way
Auburn, GA 30011
Phone: 770-867-5312
jason@sunbeltasphalt.com

km